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2. Розв'яжіть рівняння: 
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3. Скоротіть дріб 
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4. Розв'яжіть систему рівнянь 
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5. Розв’яжіть нерівність
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Варіант 2   
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2. Розв'яжіть рівняння:
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3. Скоротіть дріб 
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4. Розв'яжіть систему рівнянь  
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5. Розв’яжіть нерівність

      
[image: image17.wmf]1

6

2

5

-

<

-

x

x

                                                   (1,5 бали)
_1135272243.unknown

_1135276428.unknown

_1135276495.unknown

_1538762797.unknown

_1538763204.unknown

_1135276523.unknown

_1135276437.unknown

_1135276385.unknown

_1135276404.unknown

_1135276357.unknown

_1135270994.unknown

_1135271122.unknown

_1135271169.unknown

_1135270995.unknown

_1135270895.unknown

_1135270993.unknown

_1135270848.unknown

